1999 Volkswagen V.I.N. decoder
SERIES: - £
A = Cabrio Canada Only: = —_ =
B = Cabrio GLS Tlel s i @ &
New Beetle GL A = Passatddr GLS 2lEl e & Tlel |2
New Golf 4dr GL  |B = Passat GLS Wagen|| S | £ | & = s |22
C = New Cabrio GL C = Golf 4dr Base glele|l,lelEl. 8 (2]Z £ Sequential
New Beetle GLS E = Passat GLS Syncro|| S | 2 % k-] % 5 e 5 2 -§ @ serial number
D = New Cabrio GLS Wagon ols|S|s|2|8]z2 g |5 < (position 12 - 17)
New Beelle GLX  |F = Passatddr GLS OlE|>lnjuje]= = |O|E |
E = Euro\an 3dr Camper Syncro 1l2|3]4a|5]6 7 81910411213 [14 [15 |16 |17
F = Golf 4dr GL G = Passal 4dr GLX i vV WwWeB B B8 1 E 5 X M 8 0 3 4 5 6
G = New Golf 4dr GLE Syncro c O = E @
H = GTI 2dr VR6 H = Passat GLX Syncro § 5 = A 5 8 b—|E=Emden H = Hannover
J = Golf 4dr Wolfsburg Ed. Wagon = § g % M=Mexico W= Walfsburg
K = EuroVan 3dr GLS 5 = =
M = Passal 4cr GLS (USA) g S MODEL:
W = Passat GLS Wagon (USA) W= Car A =dcyl 1.8L (G)Passat 150HP ) 1E= Cabrio
EuroVan 3dr Weekender o=mpyv || [B=4ey1 2.0 (G)Golt 1 etta 1 GTI/ Cabrio 115HP 1H= Golf 1Jetta
P = Jetta 4dr Wolfsburg Ed. C = dcyl 2.0L (G)Golf / Jetta / GTI/ Beatle 115HP & GTI
R = Jetta 4dr GL / TDI & New Jetta 4dr GL D = 6cyl 2.8L (G)Colf / Jetta | GTI 172HP 3B = Passal
Passat GLS Syncro Wagon (USA) W= El.ll'lﬂpﬂ D = deyl 1.8L (G)TLEY New Beelle & Jetta 148HP 70 = EurcVan
S = New Jetta 4dr GLS 3 = Mexico D = Geyl 2.BL (G)Passat 120HP 1J = New
T = Jetta 4dr GLX E = Beyl 2. 8L (G)New Beetle, Jetta, Golf & GTI 174HP Golf/GT!
Passat 4dr GLS Syncro (USA) le—— | |F = 4cyl 1.9L (Diesel) Golf / Jetta / GTI / Beetle S0HP | | gut picws Jotta
U = Passat 4dr GLX Syncro (USA) H = Gicyl 2.8L (G) EuroVan 140HP
W = Passat GLX Syncro Wagon (USA)
‘98 & Prior Volkswagen V.ILN. decoder Model Year
Restraints: c £ Sequential A = 1980
_ =) 8 = b= serial number B = 1981
0 Active - Dr/Pass. H E @ 8 o = {position 12 - 17) C = 1982
2 Passive = |5 |3 h ~ |5 E né- D = 1983
) ?E::”'-‘a' lap. > E '; o £ s|la|l=|= This is the sequential ~
Wimanual lap tlS5|2|8|e|& 3|E '§ % | § | production number of the E = 1984
- ) 2l&lS|5| 2|83 2 | £ 8|2 specific vehicle. F = 1985
s i'ﬂ'ﬁ?ﬂ“ TEE:'Pass Sl=s|2|d|d|e|s|e|S|=s|< G = 1986
- . — ——— o — —
6 AirBag - Dr/Pass. .-1 21314 L_ﬁ T g 1ID 11 12 [13 [14 [15 |16 |17 H = 1987
Side AirBag Front Y - J = 1088
DriPass. heck Diagit: =
Active - DriPass. ‘99 Restraints: cn?:or ...;?.It K = 1989
8 AirBag - DriPass. Golf, GTI, Jetta, Cabrio, New Beetle & New Jetta: o o L = 1990
Active - Dr/Pass 2 AirBag Dr/Pass (Depowered) This is a calculated drgl!: per M = 1991
’ Side AirBag - Front Dr/Pass NHTSA code to determine the N = 1992
NOTES: & AirBag Dr/Pass (Standard) 'u'élli|:|i.l‘j,-I GE_EI complate Vehicle -
Al66 Passat ar: Side AirBag - Front Dr/Pass Identification Number, P = 1993
New Beetle Vehicles 8 AirBag - Dr/Pass. Active - Dr/Pass R = 1994
p ; Must follow steps in order! =
zfﬂ GqUIrpﬂij:.:_gm Pasﬂ‘, Eura'hfan,. Mew Gﬂ", New GTI: 1- Model Year {t::sillm # D} s _ 1955
Bpowared Alfcags. 2or8 AlrBag DriPass. Active - DriPass (Depowered) Locate & use sppropriate card T =1996
_ ver Si Jor6  AirBag - DriPass (Depowered) 2- Model Code (positions #7 & #Bi Vo= 1997
Pass = Passenger Sid Side AirBag - Front DriPass 3 Vehicle Series (position #4) W = 1998
asg = senger Side 4 AirBag DriPass (Depowered) 4- Engine Code (position #5) X = 1099
Side AirBag - Front & Rear Dr/Pass - Eng pos =




